General Chemistry II-Jasperse Name:
Electrochemistry: Due:

1. What is the oxidation number for N in AI(NO3);?

a. 2 b. 3 c. 4 d 5 e. 6

2. Balance the following reaction. How many electrons are transferred in the balanced reaction?

I + Fe3*>  Ip + Fe
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none of the above

3. For the following balance reaction, which of the following statements is NOT TRUE.

LOs + 5CO > L, + 5CO,

2
The carbon in CO is oxidized

The iodine in 1,05 is reduced
CO is the reducing agent
1,05 is the reducing agent
none of the above
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4. Which of the following statements is true for the spontaneous, favorable reaction involving the
following half-reactions (one of which needs to be reversed).

Ni2T +2e- > Ni E°=-0.25V
Agt+e > Ag E°=+0.80
Ni is the anode; E°cel] =-0.55 V
Ni is the anode; E°cel] =+1.05 V
Ni is the cathode; E°cel] =-1.05 V
Cu is the cathode; E°cel] = +1.85 V
none of the above
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5. If the standard reduction potential of calcium is -2.87 V, what is the standard reduction potential of
bromine, given the following:

Ca/Ca2t//Bry/Br - E°ell =3.96 V
a. 055V
b. -055V
c. 1.09V
d 236V
e. none of the above
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Given the following ions and their reduction potentials, which of the following ions will react with Fe
metal? A13Y (-2.36 V); Fe2™ (-0.44 V); Ni2T (-0.25 V); Cu2t(+0.34 V).

FNER only

AT, Ni2*, and CuZ™ will all react
Cu2t only

Ni2* and Cu2* will react, but not AT
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What is AG® for the following: 2A1+ 3Clp = 2AICI3 E°=3.02V

-1750 kJ

-1250 kJ

-874 kJ

1310 kJ

none of the above
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What is E (actual) for the following reaction, if [H] = 0.015 M and all of the other reactants and
products are in standard states/concentrations.

Cu(s) + 2NO3" (aq) + 4HT(aq) 2> Cu2+(aq) + 2NO2(g) + 2H20(1) E°=046V

0.70 V
024V
0.68V
057V
none of the above

o a0 o

What is the value of K for the reaction

Cu(s) + 2NO3" (aq) + 4HT(aq) > Cu2+(aq) + 2NO2(g) + 2H20(1) E°=0.46 V
59x 107
1.2x 10731

3.5x 1015
16
1.2
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How many grams of silver metal Ag (107.87 g/mol) can be made from Ag" by 2.50 x 104 C of charge?

a. 280¢g

b. 140¢g

c. 560¢g

d. 0250¢g

e. none of the above



